This is a sample header

This is the Error Example File

I have tried to recreate the error using all the same parameters. Namely: headers and footers are in the same placement, font style, and size. The Title is the same font size and style as well. And the double spacing is the same as well. I have made this document three pages long just to provide enough space for the recreation of this area.


To recreate this error, do the following:


1)Place curse to the left of the title.


2)Click Format, choose paragraph.


3)Click the Text Flow tab.


4)Check the Insert box and the With Page Style box (choices should be left as defaults)


5)In the page number, type in 256.


6)Save the document as the .doc file type.


7)Re-open the document. Note that the page number does not stay.
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